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QUESTION 1

Click the exhibit button.

139.120.121.1/24

Static route
—_—

R1 rR2 I

aErsEsEEREEEEEEEEEEEEE iR AR RN

138.120.199.1 138.120.199.2

What is the command to configure a static route on the 7750 service router R1 to reach the network behind router R2?
A. configure router static-route 139.120.121.0/24 next-hop 138.120.199.2
B. configure router static-route 139.120.121.0/24 next-hop 138.120.199.1
C. configure router static-route 138.120.199.2/24 next-hop 138.120.199.1
D. configure router static-route 139.120.121.0/24 next-hop 139.120.121.2

Correct Answer: A

QUESTION 2

Click the exhibit button.

R1 R2
15-15
—— _192.168.3.0124 )
= J

Router 2 advertises the network 192.168.3.0/24 to router R1 via IS-1S. How can router R1 ensure that it discards the
route?

A. Use a prefix list on router R1 to discard all ingress 1S-IS routes.
B. Use an export policy and prefix list on router R1.

C. Use an import policy and a prefix list on router R1.
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D. This is not possible because 1S-IS cannot use import policies.

Correct Answer: D

QUESTION 3

Click on the exhibit.

w515 PKT:

«TX 1515 PDU ifid 3 len 59;

# Proto Disc 1131

« Header Len :27

= Version PID 1

« |DLength 0

« Version 9

* Reserved 0

« Max Area Addr: 3

= POU Type : [10] Level 2 LAN 15-15 Hello Pdu
e Circuit Type :L1L2

« Sourceid 01001001 00 04
= Hold Time 27

= Packet length : 42

o Priority ;&4

« LANId 301 0010 01 00 04 01
+ Area Addresses:

* Area Address : (3) 49.0002

« Supp Protocols:

» Protocols S IPvd

« |/F Addresses :

o |/F Address : 10.3.4.2
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What value would be expected in the state field?
A. Exchange

B. Up

C. Down

D. 2-Way

Correct Answer: C

QUESTION 4

Click on the exhibit.
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« |SIS PET:
«RX 1515 PDU ifid 3 len 43;

]

]

Proto Dise 131

Header Len 20
Varsfon PID @1

IDLength :0O
Varsion il |
Reserved 0

Max Area Addr: 3
FDU Type (1) Point-2-Paint 15-15 Hello Pdu
Circuit Type : L1L2
Source ld ;010010010003
Hold Time ;27
Packet length : 42
Circuit|d 0
Area Addresses:
Area Address : [3) 49,0002
Supp Protocols:
Protocols  : IPvd
I/F Addressas :
I/F Address : 10,3.4.1
IWay Adjacancy
| State :
Extcktip :1
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- 192.168.1.0/2

-

e _.aj'—"/

tEh:Ribconfigrrouter>ospfrareal info

interface "aystem'
Bxit
interface “uo-Rz2M
interface-type point-to-point
Exin
interface “to-R3"
interface-type point-ro-point
exic
interface "to-192.168.1.0"
Exit

*h:Rirconfigrrouter>ospi>areaf

*h:R2Z>configrrouter>oaptrareaf info

intecface "system"
Bxit
interface "to-R1"

interface=-types point=-to=-point
Bxit
interface "Co=R3'"

interface-type point-to-point
exit

*h:R2rcontig-routersosprrareaf

OSPF Area 0

1192.168.3.0/24
i S =
R3 RS

#*ih:RIircontigrroucer>osptrarea# info

interface "system"
exXit
interface Tto=R1"
interface-type point-to-point
mecric 1000
axit
interface "to-R2"
interface-type polnt-to-point
BRIt
incerface "to-192.168.3.0"7
EXit

Th:Rirconfigrrouter>ogpiareaf

All ports in the network are operationally up and have a speed of 1Gbps. Which of the following is TRUE?

A. Data traffic from network 192.168.1.0/24 to 192.168.3.0/24 will be forwarded through router R2.

B. Data traffic from network 192.168 3.0/24 to 192.168.1.0/24 will be forwarded from router R3 directly to router R1.

C. The system interface of routers R1 and R3 must be included into OSPF for traffic to flow between the 192.168.1.0/24
and 192.168.3.0/24 networks.

D. The OSPF adjacency between router R1 and router R3 is operationally up.

Correct Answer:

QUESTION 5

D

Click the exhibit button.
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) 2.2.2.0/24

i s R an Rt RN NN R LR LR

GOt 10.1.2.1/30 10.1.2.2/30

Headquarters

<)

Given the diagram in the exhibit, what would be the correct static route configuration on the router on the right, if it is an
Alcatel-Lucent 7750 SR?

A. config> static-route 0.0.0.0/0 next-hop 10.1.2.2

B. config>router> static-route 0.0.0.0 255.255.255.255 next-hop 10.1.2.1
C. config>router> static-route 0.0.0.0/0 next-hop 10.1.2.2

D. config>router> static-route 0 0.0 0/0 next-hop 10.1.2.1

Correct Answer: D
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